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4.4 Pick-offf1E(15)
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4.4 Pick-offf1E(16)
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4.4 Pick-of ff1E(17)

fittingBEaz & LT
f(t) =poexp

P1

5\(

7z

LW CfittingLTzBD%Z |

([C7RT.

¥2 1 ndf 6.103/10 | _ 1 %2 1 ndf 19.14/10 | _ - ¥2/ ndf 6.723/10
E po 1478404636 | ©= [ po 1.11+0.2971 | = 09 po 1.701 £ 0.6685
_— p1 122.9 £26.05 0.9 p1 158 + 40.67 o p1 110.7 £23.33
E p2 0.2607 £ 0.01838 F p2 0.2807 +0.02801 0‘8:_ p2 0.1932 +0.01288
- 0.8}— -
r F 07—
- 07f- g
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- 08f- -
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4.4 Pick-of f#i1E (18)

Bo5nifitting-parameter( 3L T XIS (CRED JZ.

Nal1 1.478 £ 0.4636 122.0 &£ 26.05 0.2607 + 0.01838
Nal2 1.110 £ 0.2971 158.0 =+ 40.67 0.2807 £ 0.02901
Nal3 1.701 £ 0.6685 110.7 £ 23.33 0.1932 + 0.01288

#EAparameteridETONallCx UL TCREUEBEDZALE.

1.478 122.9 0.2607
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4.4 Pick-of f#i1E (19)

Bonifitting-parameterz AL\

g(t)=qo (Po exp (—L>+ P2 t+ 1)
P1

exp (— L(—190291 exp (— pt—l) + (1 + Pz)t)> + q»

a1

ZfittingBEz &9 D, F/z, #lHAparameter(XLATFD
BDOZ AL,

Nal1 74.65 170.8 61.93

Nal2 26.32 138.9 38.12

Nal3 24 188 38.77
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4.4 Pick-off#i1E (20)

g(t)Z AWV TfittingL7zBM% FRICKRY. Fittingés
#(F0-PsH i $940%EEIE L CTULVD72.5 nsh 55999%AE
LU TCLVB654 ns& UTeE.

- Entries 755436 = Entries 379865 Entries 393584
g Mean 31.67 E Mean 36.08 Mean 35.81
B RS 1319 | § 1o RMS 1396 | | RMS 140.5
= 2/ ndf 624.2/579 | 7 o  ndf 600.2/579 o ndf 570.5/579
g 10 po 7466+1.27 | 8 po 24.31+0.79 po 24.42 +0.81
g p1 1708+54 | § pi 162.6+10.5 p1 181.5+13.3
L 61.93+062 | *10° 3758045 | 10° 38.92 +0.52




4.4 Pick-offf1E(21)

ZUC KD TPick-offfilE&MDo-PsOFanh\skE D /.

" Nal | # [ns]

NalT 1708 £ 54
Nal2 162.6 £ 10.5
Nal3 1815 + 13.3

63/87



5 R

5.1 Fapofitting&EH - TR+ —&b

5.2 32D

5.3 8%
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5.1 FonDfitting&EH - TRILF—EEE (1)

- FapfitingDEFHZZE X CEESINDFwm(IHFEDENSIA
LSS TN ERRICfitting&iHZ2ZE X D EFanENZAL

- TQHILERSER AT (E)[ns] = o + ps (3E = py TR

— E = py A TIEFATOBREEDENKE <1EDEJEENE

- FapfittingDEEFEID FPEZ50.7ns, 72.7ns, 984nslc Lz
=, BEXUp, + 10 [keVILTFDIF) LF—ZBRU VzorBRD
IR D T EEDET6E D (T3 L CHanEkedI=

X fittingEEHE D _EPR(H654 nsdDFE E
X LABE, p, + 10 [keVIATFTOIXRILF—ZRUVEBERE [T
RIF—cutirD] |, BRHVSHh o lass%Z [ ITR)LF—cut
IRU] EFRT 65/87




5.1 FipDfittingEEE - TRILF—FEE (2)

ook
fitting #PHD TR [ns] | = LF— cut i [ns](Nall) fi [ns](Nal2) | % [ns|(Nal3)
e H 1688 +45 | /106.9+63\ | 189.3+16.9
7L 170.1+4.5 | \107.1£6.3/ | 189.3+16.9
o H 1710+5.7 | [1538+121 | 20884255
7L 172458 |[1540+121 | 208.8+25.5
" H 1521465 | 148.6+154 | 193.2429.0
L 153.7 £ 6.5 / 149.0+£ 155 | 193.2+29.0

fitting/* <L \73‘7373‘9 77-7 = -
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5.2 ZREDEM(1)

- CNETEHRUTESETDCRIE, TQfHLE, Pick-offfEED

fittingDEREZZ XD

+ TS 3DOAIiNgsRZE (CRER 9 DFFaRDERZ=01nC, 01q, Tpo
HKOFGHfittingDiRE(CNE TER CEIEERE ) op NHIL
2ELT

_ 2 2 2 2
Ototal = \/ Orpc” T 01Q” 1 Opo” T Ofit

[CHKDEEEZIKEDD
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5.2 SRZEDEM(2)

DIRTE T A (GRAZZDGHE)

5.2.1 orpc. 01, O

- —fi%(C, / \7>( Qpl, %U)nhﬁcp OfittingRBEIERf (x) DERE

of \°
‘szX) — :EE: iaph‘jbl

T5zZ5Nn%
cf0): = f(x) Lo ®

nDERE07x

N

I\ CEapfitting Ui Uiz E Sk
Fo/cFanxr, EUTC, fittingBa&lf (x) DERZE(CHEX T DF

o =max(|t — 74|, |t —1_|)

e =
CiEx=

68/87



s 2= (DT (3)

5.2.2 TDCEIF(C K B2 E g

- TDCEIE DfittingRBdZX: Time = —p,(TDCOcount)
SRZE Oime = Op, (TDCOcount)

- FFanfittingDiEERZ ¢ = (Time + oripme) — AT(E)E L TR
oizFazT, EUT,

orpc = max(|t — 74|, |t —7_])
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=

Nall

Nal2

Nal3

fitting #EPHD TR [ns] | =4 AVF—cut || 74[ns] | 7—[ns] | 7[ns] | orpc(ns|
HH 168.4 | 167.6 | 168.8 1.2
50.7
%L 169.5 | 168.8 | 170.1 1.3
0 HH 170.7 | 169.6 | 171.0 1.4
D
%L 171.9 | 1709 | 1724 1.5
»Hb 152.1 | 151.0 | 152.1 1.1
98.4
%L 153.3 | 1524 | 153.7 1.3
fitting #EFHD FRR [ns] | =4V F—cut || 74.[ns] | 7_[ns] | 7[ns] | orpc(ns|
HhH 106.9 | 102.1 | 106.9 4.8
50.7
%L 107.1 | 102.2 | 107.1 4.9
o HNH 152.7 | 147.1 | 153.8 6.7
D
%L 153.0 | 147.3 | 154.0 6.7
08.4 HH 143.0 | 141.1 | 148.6 7.5
' 7L 143.4 | 141.4 | 149.0 7.6
fitting ®PHD TR [ns] | =F L F—cut || 7o[ns] | 7_[ns] | 7[ns| | orpc[ns]
50,7 HH 190.0 | 187.0 | 189.3 2.3
(310
2L 190.0 | 187.0 | 189.3 2.3
"0 & HH 205.1 | 208.3 | 208.8 3.7
” 7L 2051 | 2083 | 2088 | 37
98.4 HH 192.0 | 1924 | 193.2 1.2
' L 192.0 | 192.4 | 193.2 1.2
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5.2 sRZ= 1l (5)

523 TQ%_;J___ (L_ CJ:%D/\;EO-"LQ

- TQfHLEOfittingBZX: AT(E)[ns] = Po +
- ? = Elkev iy TP
BRE.

TAT(B) = (G —1p1)P2 \/“30 + (E{)O—pi)l "m) + (polog(E — p1)0p,)” + ((E — p1)P20p,)°

- FFanfittingDi&EElZ t = Time — (AT(E) + oppy) & LTKR
5i)72i§%§ﬁfﬁﬁ%fffj:(t:l_/_Z:,

oTQ = max(|t — 7y, [T —7_])

71/87



=

Nall

Nal2

Nal3

I AILF— cut

fitting/h' L=

=< LY

fitting #PHO TR [ns] T+[ns] | 7—[ns] | 7[ns] | orq[ns]
. HY 174.2 | 144.4 | 168.8 | 24.4
QUL
7L 175.8 | 154.1 | 170.1 | 16.0
o »Hh 1705 | 157.6 | 171.0 | 13.4
N
7L 172.6 | 164.6 | 172.4 7.8
054 »Hb 152.1 | 150.0 | 152.1 2.1
' 7L 154.6 | 158.3 | 153.7 4.6
fitting #PHD TR [ns|] | =4 -F — cut || 74 [ns] | 7—[ns] | 7[ns] | org[ns|
HD 175.4 ﬁ,g.s 1069 | 685
50.7
L 1754 | 399 \107.1| 683
Hb 164.2 \ 73.8 U 153.8 | 80.0
72.5
7L 164.2 |\75.5/] 154.0 | 785
084 HY 152.8 | 1324 | 1486 | 16.2
' L 152.8 | 138.7 | 149.0 | 10.3
fitting #PHD TR ns] | =F4F— cut || 74 [ns] | 7—[ns] | 7[ns] | org[ns|
HY 207.9 | 134.2 | 189.3 | 55.1
50.7
7L 207.9 | 134.2 | 189.3 | 55.1
o HY 215.3 | 180.8 | 208.8 | 28.0
' 7L 215.3 | 180.8 | 208.8 | 28.0
084 HY 168.0 | 192.0 | 1932 | 25.2
' L 168.0 | 192.0 | 193.2 | 25.2

ANAVANSY kel
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5.2 iRZEDFHl(7)

fittingh' EF < Lo feF7—4

_ Entries 65853 _ _ Entries 65853
£ Mean 51.15 £ Mean 51.15
E RMS 121.9 E RMS 121.9
T %2 / ndf 641.7 /299 T ol %2/ ndf 490.7 / 288
8 po 59.37 +1.18 ) po 45.41 +1.68
g p1 39.9+0.8 g F pi 75.54 + 4.31
w p2 11.63 + 0.22 - r p2 10.69 +0.25

-200 0 200 400 600 800 -200 0 200 400 600 800
Time[ns] Time[ns]

fitting&EEdD FBEAS50.7 ns fitting&EEoD FBRA72.5 ns

X EB556BNal2, TR+ —cutidL,
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5.2 sRE=DT(8)
5.2.4 Pick-offfii1F (C K DR o,,

- Pick-of ffliLEDfittingBZXf (t) = pye P1 + p,Dfitting/ \
D X —4p,DiR7Eo, (IFFanfitting BEZK

_t 1 _t
g(t) = qo (}’)(Je P1 + po + 1) exp [_q_ {—10{)1016 71+ (p2 + 1)t}} + G2
1
=
(e —

=10
= 1

. 2
b D e 14 — 2t
A7 04 = qoexp [—q—l {—pople P+ (p2 + 1)t}] \/[1 + ;—1 (poe P+ po + 1)] e o2,
1

2 2
p bl 2 2t t i

+p432 [qlt + (p? + pit) <poe P1I + po + 1)] e m agl + [1 — — (poe P1 + po + 1)] (712,2
141

q1

C,  Opo = max(|t — 74|, |7 — 7_|) 74/87



=

Nall

Nal2

Nal3

IAI)LF— cut

fitting #iPHD TR [ns] 7+[ns| | 7_[ns] | 7[ns| | ope[ns]
£0.7 »HH 186.6 | 131.9 | 168.8 | 36.9
%L 188.1 | 132.9 | 170.1 37.2
79 5 HY 189.1 | 136.0 | 171.0 | 35.0
L 190.7 | 137.1 | 1724 | 35.3
98.4 HH 166.3 | 123.4 | 152.1 28.7
%L 168.0 | 124.5 | 153.7 29.2
fitting #IPHD FRR [ns] | =5 AF — cut || 74[ns] | 7—[ns] | 7[ns] | opo[ns]
50,7 HY 100.5 | 129.3 | 106.9 22.4
2L 100.7 | 129.5 | 107.1 224
79 5 »HDH 144.7 | 209.2 | 153.8 55.4
%L 150.0 | 209.7 | 154.0 25.7
98.4 HD 140.0 | 205.9 | 148.6 27.3
%L 140.3 | 206.6 | 149.0 27.6
fitting #IPHDO FIR [ns] | =4 F— cut || 74[ns] | 7—[ns] | 7[ns| | opo[ns]
50.7 HDH 221.0 131.5 | 189.3 o7.8
ZL 221.0 | 131.5 | 189.3 57.8
79 5 HH 247.1 | 147.1 | 208.8 61.7
%L 247.1 147.1 | 208.8 61.7
98.4 HD 226.5 142.1 | 193.2 ol.1
%L 226.5 142.1 | 193.2 5l.1
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irz2= DTl (10)

5.2.5 FRFEDZ

Neals')

fitting WD TR [ns] | =3r¥— cut || a0 [ns](Nall) | #Fan [ns](Nal2) | #in [ns](Nal3)
507 HH 168.8 +44.5 106.9 = 72.5 189.3 = 81.7
AQD 170.1 == 40.8 107.1 =72.3 189.3 £ 81.7
"0 5 HH 171.0 £ 37.9 153.8 = 98.3 208.8 &= 72.5
QD 172.4 4+ 36.6 154.0 £ 97.2 208.8 & 72.5
98.4 &b 152.1 £+ 29.5 148.6 £ 62.0 193.2 £ 63.9
AQV 153.7 £ 30.3 149.0 £ 61.0 193.2 £ 63.9

°>:<T i O-totald)ﬂgt“/_-l_: L/jt_—_- (Utotal — \/O-TDCZ + O-TQZ + O-poz + O-ﬁtz)

* itn ;Ed) H W(L—_EE_DH:H |_142 nSb\HYC\DTL\g
- Nal1lXk DNal2,3mA M ERENAETLY
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* O-total (L—__. (j:E

55

F(CTQ#L

- (CKBERZE, Pick-offffL

Nal3=> > FL—FDorpc, orq, Tpo

_(L_J:5 I:‘

fitting HPHO TR [ns] | =ALF—cut | 74[ns] | 7-[ns| | 7[ns] | orpc[ns] | | fitting HEAD TR [ns] | =AVF— cut || 74[ns| | 7_[ns] | 7[ns] | opq[ns|
B 190.0 | 187.0 | 189.3 | 2.3 Hh 207.9 | 134.2 | 1803 | /55.1
50.7 50.7 /5N
rL 190.0 | 187.0 | 189.3 | 2.3 il 207.9 | 1342 | 189.3 [ 55.1
Y B 205.1 | 2083 | 2088 | 3.7 . B 215.3 | 180.8 | 208.8] 28.0
N Rl 205.1 | 208.3 | 2088 | 3.7 ' iU 215.3 | 180.8 | 208.8| 28.0
Y 1920 | 1924 11932 | 12 B 168.0 | 1920 | 1932 25.2
08.4 08.4
7L 1920 | 1924 [ 1932 12 7L 1680 | 1920 | 1932 | \25.9/
fitting HPHD TIR ns] | ZAF—cut || 74[ns] | 7—[ns| | 7[ns] | opo[ns]
" B 210 | 1315 | 189.3 ﬁ7A
il 9210 | 1315 | 1803 [ 57.8 )
o ) 247.1 | 147.1 | 2088 61.7
K]
7L 247.1 | 147.1 | 2088 61.7
) 926.5 | 142.1 | 1932 \ 51.1
08.4
B 2065 | 142.1 | 1932 \51 1 / 77/87




5.3.1 TXJL=F

——CUL

fitting MWHAD FM [ns] | =31¥— cut || #Ffn [ns](Nall) an [ns](Nal2) an [ns|(Nal3)
0 5% 168.8 & 44.5 106.9 + 72.5 189.3 + 81.7
o L 170.1 + 40.8 107.1 +72.3 189.3 + 81.7
s N 171.0 + 37.9 153.8 £ 98.3 208.8 + 72.5
' kL 172.4 + 36.6 154.0 £ 97.2 208.8 + 72.5
054 2%) 152.1 +29.5 148.6 + 62.0 193.2 + 63.9
' kL 153.7 + 30.3 149.0 £ 61.0 193.2 + 63.9
- Nall,2: IR lF—cut’iaU] KO [ ITRILF—cutdrD | DA
INEFADIERE142 ns(SIFEULVDY, EREDEIHINE
[ERAZNE = p, THRENT D EDOFmN\DEENH TN EDIH
(FHIETTEIR0N
- Nal3: TxR)LF—cutdr D - IRUTHSBHEU
—cut UTe TR LF—EBHREIDA R MUV KEENFEALE

I2VANSY ful fuls'd)

572> T D TQH



5.3.2 fitting&

fitting WMO T [ns] | =x1¥— cut | FFn [ns|(Nall) i [ns|(Nal2) | i [ns|(Nal3)
507 HH 168.8 4 44.5 106.9 £ 72.5 189.3 + 81.7
%L 170.1 +£40.8 107.1 = 72.3 189.3 4+ 81.7
0 5 HH 171.0 £37.9 153.8 £ 98.3 208.8 £ 72.5
%L 172.4 £ 36.6 154.0 £297.2 208.8 = 72.5
08 4 »Hh 152.1 4+ 29.5 148.6 £ 62.0 193.2 +£63.9
2L 153.7 & 30.3 149.0 £ 61.0 193.2 + 63.9

- fittingZFEBE D FIRICK D CHIDMENAKEZT K ERDTLVD

- fitting&BE D FIRHVNE R B(FLBENKE <O TS
(fittingh EF < LD TLVRWST—57ZFRK)

79/87




5.3 BT (4)

+ Pick-of ILERSERf () DIRTEICH - | ™ a7 sostas
Araldt = 100,150, ... ns
- FopfittingDEEEID TR
t = 50.7,72.5,98.4ns < 100 ns
- Pick-of fHLERAZXf (t) (FethV e <
IRBIFEKRSTIME(CIRD

LWVZT—

pi 122.9 £26.05
p2 0.2607 £0.01838

.I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

100 200 300 400
‘ Time[ns]

+ F(Ct < 100 nsOEEE TPick-of FIERIAf () DEDBEN S DTN

WARELIED, fittingEHED FROAVNS KRB IEFEZTDFENK
=<ERNIC

- fitting&s
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5.3 FE(5)

5.3.3 Nall&Nal2 - 3 Tsh
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- Gaussian fitting(C DL\ T (S fittingh EF << W\ TH D KER

sz (DIR[X

E(FEZ(C<LY

- TQMLEBFZROOfitting(CDULYT, Nal2 - 3> >F L —4~Tl&
400 keVLA_EDFT—4 5\ TQEIEREZEN SIMLT LS
—>CHUHNal2 « 32> F L —HDEEDREX 82/87




5.3 BE(7)

Nal1=2FL—3 (DT
- fitting#BE D FPRDY98.4 nstDF—F [C DUV TIIEREN LR

R/

- fittingSEED FIRNVI\& < B B(FE/BENAZ <BDTNS

—fitting&BHEID T EZ/\& < 9 B(F EPick-of i IEEFZIMD I 1N
SN AE 12D T ENEE
fitting #PHO TR [ns] | =AVF—cut || 7o [ns] | 7_[ns] | 7[ns] | orq[ns]

0 Hh 174.2 | 144.4 | 168.8 | 24.4
. kL 175.8 | 154.1 | 170.1 | 16.0
o Hh 170.5 | 157.6 | 171.0 | 13.4

" kL 172.6 | 164.6 | 172.4 7.8
054 Hh 152.1 | 150.0 | 152.1 | 2.1

' L 154.6 | 158.3 | 153.7 | 4.6
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5.3 B%(8)
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fitting WO TR [ns] | =3xr¥— cut || #Fmn [ns|(Nall) | #Fdn [ns](Nal2) i [ns|(Nal3)
50 7 HH 168.8 4+ 44.5 106.9 £ 72.5 189.3 + 81.7
7z L 170.1 += 40.8 107.1 £ 72.3 189.3 + 81.7
"0 5 HH 171.0 £ 37.9 153.8 4+ 98.3 208.8 £ 72.5
7z L 172.4 + 36.6 154.0 4+ 97.2 208.8 &= 72.5
08 4 bHh 152.1 £29.5 148.6 4= 62.0 193.2 £ 63.9
%L 153.7 £ 30.3 149.0 = 61.0 193.2 £ 63.9
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» B.A.Kniehl, A.V.Kotikov and O.L.Veretin: "Orthopositoronium
lifetime at O(a) and O(clna) in closed form ”,
[arXiv:0909.1431v2[hep-ph]] (2009)

- Michael E. Peskin and Daniel V. Schroeder: "An Introduction to
Quantum Field Theory” Westview Press (1995)

- WEDLR— ~(2021RF1HE, 20207&HA, 201981HA - 1&HA,
2018mUHA - 12HH, 20164%HA)
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g(t)DEH
s(t) = 9

2O (1 4 £ (£)) exp [~ (t+ [} f(t)dt")]
(C f(t) = pgyexp (— p—)+p2 ZRAUT,

N (0) t
S(t) = (po €Xp (— —) +p+ 1)

Tortho P1

1 ‘ t ,
exp | — (t+f (poeXp< >+pz>dt)]
Tortho 0 P1
N(0) t
= exp (C)(poexp|——)+p2+1)
Tortho P1

1 t
exp [— (—popl exp (— —)+ (1 +P2)t)]
Tortho P1



LTeM> T, fitting-parameterzq,, q;, 9, &I N,

g(t)=qo (Po exp (— L)+ P2+ 1)
P1

exp (— L(—popl exp (— L) + (1 + pz)t)> + q>

a1 P1
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